

מתחו קו בין הביטויים המתאימים-

$$x^2 - 10x + 25$$

$$(x - 2)(x - 5)$$

$$x^2 - 7x + 10$$

$$(2x + 3)^2$$

$$x^2 - 25$$

$$(x + 5)(x - 2)$$

$$x^2 + 3x - 10$$

$$(x - 5)^2$$

$$4x^2 + 12x + 9$$

$$(2x + 3)(2x - 3)$$

$$16x^2 + 24x + 9$$

$$(x + 5)(x - 5)$$

$$x^2 - 3x - 10$$

$$(x + 2)(x - 5)$$

$$4x^2 - 9$$

$$(4x + 3)^2$$

פרקו לגורמים-

	דרך	תשובה סופית
$x^2 + 6x + 12 =$		
$x^2 + 8x + 16 =$		
$4x^2 + 4x - 8 =$		
$6x^5 + 48x^4 + 96x^3 =$		
$x^2 - 16 =$		
$3x^2 + 45x + 168 =$		
$5x^3 - 8x^2 - 40x =$		

פרקטיס מרכז למידה ותרגול <https://tinyurl.com/Practice-info>